

# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 4, 2024

Progress Estimate Number	Contract ID	230915-G08	Pay Period Start	October 16, 2024	Original Contract Amount	\$3,306,797.66
4	Prime Contractor	Emery Sapp & Sons, Inc.	Pay Period End		Net Change Order Amount	
					<b>Current Contract Amount</b>	\$3,306,797.66

Approval Date		By User
November 4, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	martijc
November 4, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	LANEK1
November 5, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024		72.66%

	Milestones		
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	October 12, 2023	October 12, 2023	
Letting Date	September 15, 2023	September 15, 2023	
Notice to Proceed Date	November 6, 2023	November 6, 2023	
Open to Traffic Date			
Work Began Date	September 11, 2024	September 11, 2024	

Contract Total Pay For Estimate No. 4										
		This Estimate	Previous	To Date						
230915-G08										
	Total Posted Items Pay	\$771,706.58	\$1,630,894.57	\$2,402,601.15						
	Gross Item Adjustments	\$113,558.13	(\$255,226.66)	(\$141,668.53)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
			\$1,375,667.91	\$2,260,932.62						
<b>Contract Total Pa</b>	yable This Estimate:	\$885,264.71								

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount					
JST0045	0010	4071005	TACK COAT	GAL	\$3.240	6,492	\$21,034.08					
	0040	6161005	CONSTRUCTION SIGNS	SQFT	\$5.500	0.5	\$2.75					
	0060	6181000	MOBILIZATION	\$126,056.21								
	0110	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING									
	0140	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	\$12.11								
	0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	-0.06	(\$4.95)							
	0200	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$81.790	480.77	\$39,322.18					
	0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$80.390	4,120	\$331,206.80					
	0260	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$82.460	3,061	\$252,410.06					
	0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	(\$6.00)								
	0320	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)									
Project JST0045 - Total												
Overall - Tot	al						\$771,706.58					

### Contract Adjustments This Estimate

Revision 3/23/2023 Page 1 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 4, 2024

Progress Estimate Number
4

Contract ID 230915-G08 Pay Period Start October 16, 2024 Original Contract Amount \$3,306,797.66

Prime Contractor Emery Sapp & Sons, Inc. Pay Period End November 1, 2024 Net Change Order Amount Current Contract Amount \$3,306,797.66

No Contract Adjustments Exist on Contract

roject	Line	Item Description	Adjustment	Other Item	Comments	Adjustment	Line Item	Adjustment
umber	No.		Туре	Adjustment Type		Quantity	Adjustment Unit Price	amount
T0045	0140	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Other	This payment is to offset deduct on prior estimate that reflects failing test results for PG 64-22 Performance Grade Asphalt Binder for the days of 9/24/2024 and 9/25/2024.  Tons placed:			\$169,076.01
					9/24/2024 1412.00			
					9/25/2024 682.08			
					Total Tons 2094.08			
					2094.08 x \$80.74/TONS = \$169,076.01			
	0140	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Other	This deducts reflects failing in-line grades per EPG 460.3.13. See email chain in eProjects.			(\$16,907.00)
	0140	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Base Index: 598.75 Current Index: 493.75 Index Difference: -105 Line 260:			(\$2.52
					-105.00\$/TON x .50 TONS x 4.80% AC = \$-2.52			
	0200	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Base Index: 598.75 Current Index: 493.75 Index Difference: -105 Line 200:			(\$2,424.24
					-105.00\$/TON x 481.0 TONS x 4.80% AC = \$-2,424.24			
	0230	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Base Index: 598.75 Current Index: 493.75 Index Difference: -105 Line 230:			(\$20,764.80)
					-105.00\$/TON x 4120 TONS x 4.80% AC = \$-20,764.80			
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Base Index: 598.75 Current Index: 493.75 Index Difference: -105 Line 260:			(\$15,427.44
					-105.00\$/TON x 3061 TONS x 4.80% AC = \$-15,427.41			
	0320	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',90.25000 - 90.25000, 'is applied (if non-zero).	0.09	\$90.25	\$8.12

Revision 3/23/2023 Page 2 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
JST0045		Resurface	EE,K, W,Y,NN, PP,J	MCDONALD	on Rte. EE from I-49 to end of state maintenance (ESM), on Rte. K from I-49 to Rte. 90, on Rte. W from Pineville to Rte. 76, on Rte Y from Rte. B to Rte. 60, on Rte. NN from Rte. 71 to ESM, on Rte. PP from Rte. 43 to ESM, on Rte. J from Rte. 43 to ESM						
•	Job Numbe	ers									
JST0045		ed Item Pay s Item Adjustn		tem Pay	This Estimate \$771,706.58 \$113,558.13 \$885,264.71	Previous \$1,630,894.57 (\$255,226.66) \$1,375,667.91	To Date \$2,402,601.15 (\$141,668.53) \$2,260,932.62				
		centive		теш ғау	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$0.00 \$0.00				
		dated Damage Contract Adji			\$0.00 \$0.00 \$0.00 \$0.00 \$0.00						

Revision 3/23/2023 Page 3 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 230915-G08, Contract Project JST0045, Project Item Line Number 0320, Contract Line Item Number 0320, Item 4020520, Minor Item.	Future Change Order item.	martijc	Acknowledged

Revision 3/23/2023 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project		Line	Item	Description	Bid	Net	Total	Unit	Total	Unit Price	Total Value POSTED
Nm.CONTRACT	No.	Category	No.	Code	Description	Quantity	Change Order	Current Quantity	Offic	Posted Approved Qty	Offit Price	To Date (See report generated date)
230915-G08	JST0045	0001	0010	4071005	TACK COAT	36,692.00	0.00	36,692.00	GAL	22,958.00	\$3.24	\$74,383.92
		0001	0020	4081018	PRIME-LIQUID ASPHALT MC 800	22,783.00	0.00	22,783.00	GAL	0.00	\$5.16	\$0.00
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	14.00	0.00	14.00	EA	0.00	\$500.00	\$0.00
		0001	0040	6161005	CONSTRUCTION SIGNS	8,494.00	0.00	8,494.00	SQFT	2,474.00	\$5.50	\$13,607.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	70.00	0.00	70.00	EA	0.00	\$15.00	\$0.00
		0001	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$126,056.21	\$126,056.21
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	407,289.00	0.00	407,289.00	LF	0.00	\$0.13	\$0.00
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	406,381.00	0.00	406,381.00	LF	0.00	\$0.10	\$0.00
		0001	0090	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	3,684.00	0.00	3,684.00	SQYD	0.00	\$3.54	\$0.00
		0001	0100	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6,403.00	0.00	6,403.00	SQYD	0.00	\$7.53	\$0.00
		0001	0110	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,681.46	\$1,681.46
		0050	0120	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,213.40	0.00	2,213.40	TONS	0.00	\$38.53	\$0.00
		0050	0130	3105002	GRAVEL (A) OR CRUSHED STONE (B)	268.00	0.00	268.00	TONS	0.00	\$37.32	\$0.00
		0050	0140	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	8,288.10	0.00	8,288.10	TONS	7,047.00	\$80.74	\$568,974.78
		0051	0150	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,895.00	0.00	1,895.00	TONS	0.00	\$37.17	\$0.00
		0051	0160	3105002	GRAVEL (A) OR CRUSHED STONE (B)	352.00	0.00	352.00	TONS	0.00	\$35.96	\$0.00
		0051	0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,039.10	0.00	7,039.10	TONS	6,805.00	\$82.56	\$561,820.80
		0052	0180	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,203.80	0.00	1,203.80	TONS	0.00	\$37.57	\$0.00
		0052	0190	3105002	GRAVEL (A) OR CRUSHED STONE (B)	432.00	0.00	432.00	TONS	0.00	\$37.68	\$0.00
		0052	0200	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,504.20	0.00	4,504.20	TONS	4,195.00	\$81.79	\$343,109.05
		0053	0210	3049910	MISC.PERMANENT AGGEGATE EDGE TREAMTMENT	1,125.20	0.00	1,125.20	TONS	0.00	\$43.49	\$0.00
		0053	0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	186.00	0.00	186.00	TONS	0.00	\$63.93	\$0.00
		0053	0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,213.00	0.00	4,213.00	TONS	4,120.00	\$80.39	\$331,206.80
		0054	0240	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	871.80	0.00	871.80	TONS	0.00	\$39.23	\$0.00
		0054	0250	3105002	GRAVEL (A) OR CRUSHED STONE (B)	186.00	0.00	186.00	TONS	0.00	\$38.03	\$0.00
		0054	0260	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	3,259.10	0.00	3,259.10	TONS	3,061.00	\$82.46	\$252,410.06
		0055	0270	3049910	MISC.PERMANENT AGGREGATE EDGE TREAMENET	255.00	0.00	255.00	TONS	0.00	\$50.33	\$0.00
		0055	0280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	112.00	0.00	112.00	TONS	0.00	\$40.34	\$0.00
		0055	0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 954.20 0.00 954.20 TONS 841.00 \$85 LEVELING)							\$72,132.57
	0056 0300 3049910 MISC.PERMANENT AGGREGATE EDGE TREATMENT 157.60 0.00 157.60 TONS 0.00 \$							\$59.81	\$0.00			
		0056	0310	3105002	GRAVEL (A) OR CRUSHED STONE (B)	76.00	0.00	76.00	TONS	0.00	\$39.61	\$0.00
		0056	0320	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	589.90	0.00	589.90	TONS	634.00	\$90.25	\$57,218.50
	Project J	ST0045 - To	otal Value	Posted to D	ate as of Report Generated Date							\$2,402,601.15
0915-G08 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$2,402,601.15

Revision 3/23/2023 Page 5 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

## The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JST0045

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4071005	TACK COAT	10/15/24	10/31/24	425.00	GAL	RTE W	0		1		
			10/16/24	10/31/24	974.00	GAL	RTE NN.	0		1		
			10/17/24	10/31/24	705.00	GAL	RTE NN	0		1		
			10/18/24	10/31/24	826.00	GAL	RTE NN.	0		1		
			10/21/24	10/31/24	607.00	GAL	RTE Y.	0		1		
			10/22/24	10/31/24	886.00	GAL	RTEY	0		1		
			10/23/24	10/31/24	1,557.00	GAL	RTEY	0		1		
			10/24/24	10/31/24	512.00	GAL	RTEY	0		1		
0040	6161005	CONSTRUCTION SIGNS	10/31/24	11/4/24	0.50	SQFT		0		1		Final Quantities.
0060	6181000	MOBILIZATION	10/31/24	11/4/24	1.00	LS		0		1		Final Quantities.
0110	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	10/31/24	11/4/24	1.00	LS		0		1		Final Quantities.
0140	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/31/24	11/4/24	0.15	TONS		0		1		Final Quantities.
0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/31/24	11/4/24	-0.06	TONS		0		1		Final Quantities.
0200	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/15/24	10/31/24	481.03	TONS	RTE W	0		1		
			10/31/24	11/1/24	-0.03	TONS		0		1		Final Quantity.
				11/4/24	-0.23	TONS		0		1		Final Quantities.
0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/21/24	10/31/24	808.00	TONS	RTE Y.	0		1		
			10/22/24	10/31/24	1,120.19	TONS	RTE Y.	0		1		
			10/23/24	10/31/24	1,505.70	TONS	RTEY	0		1		
			10/24/24	10/31/24	685.68	TONS	RTEY	0		1		
			10/31/24	11/1/24	0.03	TONS		0		1		Final Quantity.
				11/4/24	0.40	TONS		0		1		Final Quantities.
0260	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/16/24	10/31/24	1,064.68	TONS	RTE NN	0			1	
			10/17/24	10/31/24	1,036.00	TONS	RTE NN.	0		1		
			10/18/24	10/31/24	960.15	TONS	RTE NN.	0		1		
			10/31/24	11/1/24	-0.03	TONS		0		1		Final Quantity.
				11/4/24	0.20	TONS		0		1		Final Quantities.
0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/31/24	11/4/24	-0.07	TONS		1		2		Final Quantities.
0320	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	10/31/24	11/4/24	-0.09	TONS		0		1		Final Quantities.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 6 of 9



# Line Item Adjustments by Estimate

Contract ID: 230915-G08

5		5	A 11	011	F .	0 1 1	0 1 1		5 1
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0045	0140	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	1	Sep 16, 2024	martijc	(\$1,371.73)	Base Index: 598.75 Current Index: 527.5 Index Difference: -71.25
		PG64-22 (SUR							Line 0140:
									-71.25\$/TON x 401.09 TONS x 4.8% AC = -\$1371.73
					2	Sep 30, 2024	martijc	(\$22,728.50)	Base Index: 598.75 Current Index: 527.5 Index Difference: -71.25
									Line 190:
									-71.25\$/TON x 6645.76 TONS x 4.8% AC = \$-22,728.50
					4	Nov 4, 2024	martijc	(\$2.52)	Base Index: 598.75 Current Index: 493.75 Index Difference: -105
									Line 260:
									-105.00\$/TON x .50 TONS x 4.80% AC = \$-2.52
				ACAD - Tota	al			(\$24,102.75)	
				OTHR	3	Oct 16, 2024	martijc	(\$169,076.01)	This deduct reflects failing test results for PG 64-22 Performance Grade Asphalt Binder for the days of 9/24/2024 and 9/25/2024. Tons placed: 9/24/2024 - 1412.00 9/25/2024 - 682.08 Total Tons - 2094.08
									2094.08 x \$80.74/TONS = -\$169,076.01
					4	Nov 4, 2024	martijc	(\$16,907.00)	This deducts reflects failing in-line grades per EPG 460.3.13. See email chain in eProjects.
					4	Nov 4, 2024	martijc	\$169,076.01	This payment is to offset deduct on prior estimate that reflects failing test results for PG 64-22 Performance Grade Asphalt Binder for the days of 9/24/2024 and 9/25/2024.
									Tons placed:
									9/24/2024 1412.00
									9/25/2024 682.08
									Total Tons 2094.08
									2094.08 x \$80.74/TONS = \$169,076.01
				OTHR - Tota	al			(\$16,907.00)	
			Other Item	Adjustment -	Total			(\$41,009.75)	
	0140 -				_			(\$41,009.75)	
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22	Other Item Adjustment	ACAD	3	Oct 16, 2024	martijc	(\$34,297.50)	Base Index: 598.75 Current Index: 493.75 Index Difference: -105
		(SUR							Line 170:
									-105.00\$/TON x 6805.06 TONS x 4.80% AC = \$-34,297.50
			Othorik	ACAD - Tota				(\$34,297.50)	
	0170 -	Total	Other Item /	Adjustment -	Total			(\$34,297.50) (\$34,297.50)	
	0200	BITUMINOUS	Other Item	ACAD	3	Oct 16,	martijc	(\$18,719.72)	Base Index; 598.75
	1200	PAVEMENT MIXTURE PG64-22	Adjustment	, .5, .5	_	2024	a. ujo	(+.0,1.10.12)	Current Index: 493.75 Index Difference: -105
		(SUR							Line 200:
									-105.00\$/TON x 3714.23 TONS x 4.80% AC = \$-18,719.72
					4	Nov 4, 2024	martijc	(\$2,424.24)	Base Index: 598.75 Current Index: 493.75 Index Difference: -105
									Line 200:



# Line Item Adjustments by Estimate

Contract ID: 230915-G08

ST0045   O200   BITUMINOUS   PAVEMENT   MixTURE   PG64-22   (SUR   Other Item Adjustment   ACAD	
PAVEMENT   MIXTURE   PG64-22   (SUR	
Description	
Other Item Adjustment - Total   (\$21,143.96)	
Discription   Discription	
PAVEMENT   Adjustment   2024   Current Index: 493.75   Index Difference: -105   Line 230:	
Line 230:   -105.00\$/TON x 4120 TONS x 4.80% AC = \$-20,764.80     ACAD - Total   (\$20,764.80)     Other Item Adjustment - Total   (\$20,764.80)	
ACAD - Total (\$20,764.80)  Other Item Adjustment - Total (\$20,764.80)	
Other Item Adjustment - Total (\$20,764.80)	
0230 - Total (\$20,764.80)	
0260 BITUMINOUS Other Item ACAD 4 Nov 4, PAVEMENT Adjustment MIXTURE PG64-22 ACAD 4 Nov 4, 2024 Base Index: 598.75 Current Index: 493.75 Index Difference: -105	
(SUR Line 260:	
-105.00\$/TON x 3061 TONS x 4.80% AC = \$-15,427.41	
ACAD - Total (\$15,427.44)	
Other Item Adjustment - Total (\$15,427.44)	
0260 - Total (\$15,427.44)	
0290 BITUMINOUS PAVEMENT Adjustment ACAD 1 Sep 16, 2024 martijc (\$2,876.46) Base Index: 598.75 Current Index: 527.5 Index Difference: -71.25	
(SUR Line 0290:	
-71.25\$/TON x 841.07 TONS x 4.8% AC = -\$2,876.46	
ACAD - Total (\$2,876.46)	
Other Item Adjustment - Total (\$2,876.46)	
0290 - Total (\$2,876.46)	
0320 BITUMINOUS Other Item ACAD 1 Sep 16, martijc (\$2,168.59) Base Index: 598.75 Current Index: 527.5 Index Difference: -71.25	
(SUR Line 0320:	
-71.25\$/TON x 634.09 TONS x 4.8% AC = -\$2,168.59	
ACAD - Total (\$2,168.59)	
Other Item Adjustment - Total (\$2,168.59)	
Overrun Overrun 1 Sep 16, SYSTEM (\$3,988.15)	
4 Nov 4, 2024 \$8.12 Unit price based on averaged overrun adjustments for installed quar previous payment estimates. Price Adjustments of ',90.25000 - 90.2 applied (if non-zero).	
Overrun - Total (\$3,980.03)	
Overrun - Total (\$3,980.03)	
0320 - Total (\$6,148.62)	
JST0045 - Total (\$141,668.53)	
Overall - Total (\$141,668.53)	

# MoDOT

# Contract Adjustments for Contract - 230915-G08

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 9 of 9